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Numericka rjeSenja zadataka
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432
4.33
4.34
4.35
4.36
4.37

F,, =300N, F, =-300 N, F,_ =500 N, F, =655,7N,
5,=300 N, S, =300 N, S, =800 N .

S, =5418N, S, =2102N,

F,, =—46,15N, F, =5654N, F,_=207,7N, F, =604,IN.

F=669.2N, F, =267,7N, F, =5353N, F,. =700,8N, F, =9215N,

F, =0, F, =0.

F,=1699N, F, =27TN.

S, =250N, S, =-175N, §, =375N, §, =0, S, =250N, S, =350 N.
Fy.=F,. =240N ,F.y = 1046 N .

F, =1061kN, F, =—2121kN, F,. =-15kN, F, = 2806 kN,

Fyi=Fy. = 0, Fs = 2,806 kN.

Fy =—230kN, F, =7,5kN, F,_ =—1422kN , F, =7,026kN,

S, = 2,115 kN. §, — 5,192 kN,

Fao= ~0,866 kN, Fa, = 0,5 kN, Fa. = 1 kN, Fy, = 0 kN, Fg, =2 kN, 5 = 1,414 kN.

Far=—1kN, Fa, =0, Fa, = 1,732 kN, Ma, = 6,928 KN -m, M, = 4,196 kN-m,
My, =4 kN-m.

Fpe=0,Fp, =0, Fa, =250 N, Fg, = 1250 N, Fe, = =500 N, F¢, = 0.
F=4619N, Fg=1139N, F, =-122,9 N.

FAX=100N,FA),=50N,FAZ 75N, Fy=135N,
By =250 N, Fg.=75N, Fg =261 N, Fs =350 N.

S1 3,29kN, Sy = 1,5 kN, Fa, =0, Fa, =2,76 kN, F. = 0,095 kN.
Far=0, Fo.= 0,4 kN, F, = 0, Fp. = —0,93 kN, Fs = 1,53 kN.

Fae=2,8 kN, Fs,=0,58 kN, Fa. = 6,50 kN, S = —2,89 kN, S, = 5,19 kN.
Fac=Fpy=Fa.=Fg.= 1 kN, Fy = 1,732 kN, F, = 0, Fs = 1,732 kN.

F, =F,=0, F, =4kN, F, =4kN, F, =1kN, F, = 5657 N
Fa=0, Fa,=—1,732 kN, F5. = 1 kN,

My, =—1,2 kKN-m, My, =5 KN-m, M,. = —3,46 kN-m.

F,, =-500N, F, =1000N, F, =0,

M, =125 N-m, M,, =0, M, =250 N-m.

S1=0,8,=495kN, S;=24 kN, F, = 1,125 kN, F5, =5 kN, F.= 2 kN.
S1=-9KkN, S, =948 kN, S3=0, Fp, = Fp, = Fs.=0.

Fpr=2KkN, Fy, =4 kN, F5.=0, S, = 6,298 kN, S, = 2,828 kN, S; = 0.
Fs=6,5kN, Fa,=9,63 kN, Fx, =425 kN, Fy = 10,53 kN.

Fs=30N, Fy, =-26 N, Fys, =265 N, F = 266,3 N.

S1="7,64kN, S, =127 kN, Fy, = 6,3 kN, F5, = 0,9 kN, F, = 6,43 kN,
Fz=127kN.



